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L v Ty (R — T ) 5 6 6
My s s - 9 1 1 ' ' 11
A E D kF v — F 12 16 16
ifi. yE 0 s e 1 A1 1 17
yRERT MR AR BLIE) 3 | L 1
%U V- S M- VIR AV 1 1
Ny — v B E (600 W) 2 2
ﬁ%é%%‘éwoowut-ﬁyuy)' 2 2
e o o 5 m (2 0 0 ) 2 )
B -y — 4 (20 m) 1 1
~% &5 » KX VvV TF B - 1 1
W B o» X b4 L — &5 5
?%E‘z’%(w—w\‘/~7sy§?47°)' 20 20
B4 o2 (H OB m k) 20 20
T % & (F B B X )3 3
55 — 7 A (#H B x &) 5 5
S BB R A A — Ty (KL h2) 3 3
DL pH 2 A v < (8kag) 2 2
v L 3 w1 1
~ &k & o O — T &k o= ) 1 1
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4. SEERECHR RN

(1) F 1w Es H31. 4. 1BL{F
HME (6 /) SRR ARERIEME - AR - AUEPEME - REREEHR - TR
W& B IHEhIE 1 (WHBAEE) - EEN 2 CRe&dk) - IREhIE 3 (GERENER) - FEEAN
W 1 - BRI 2 - Bl 3
. AR A 5 i s
OB R B R 4 1
T
ik E
5 5] i 3 9 5
* Bt 193] B 3 3
il
wm F B o % 5
=2 A
R W B B XX“*‘El 7 14
53] 5l 4y = 1 4 4
+ ¥ 4 BE O PF 1 2 3
T #R o B AT 1 2 3
) S N S Y 1 5 7
& T 1 3 5
[T = B 9 R 1 5 7
= B 3 7 44 57

_46_




(2) FEF LA H31. 4. 1EL{E

LR (6 )7) SFILBEHR - AEDEEHD - 7R - AT - RSN - TR
W4 W W
R AR TR o T s
N & 1 10
i % Ei K2 AR 1
X B A @ 7
RIS P 1 "
B[N E 5 1
% A o 4y 2 !
o B | T o o 1 1
e ig JIP o b 43 4 1
éthﬁﬁﬁﬂ 2 1
AT 2 !
(S I R - i 2 1
ﬁ SR R g Sy [ 2 1
AEE B 2 1
o T 2 1
A 7 SR NI 1 4
% ﬁ A Bl 4y H 2 1
x % w4y 2 1
B | 1M sy 3 !
A 7 SR NI 1 7
Y Y 2 1
% B8 5 o e 5y 2 !
Hi | AL sy 2 1
B% | 5 te wr g 4> B 2 1
Ko [ B oy H 1 1
b Kl e » ow 1 1
B | m | B e s | 1 1
5 1a wm » M@ 1 1
Blem kx » M 1 1
| B F o = 1 1
JLE F o 2 !
AL 2 1
L A 7 SR NI 1 5
¥R ;ﬁ L 4 1
é % MR eh ok 4y [ 5 1
| WoN o = 3 1
X B A W 1 5
T T 5 N
W | g [T MR AE 5 B 8 1
é % T W 4 M 6 1
| BB o = 3 1
& g 1 87 70
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5 [RZRR (BENATHEBERABTEEL)

H30. 1. 1~H30. 12. 31

L - Sl (°C) W (%) J& (m) fif (mm)
\ &
3 -
T S SN S R R - N R S S
I SRR R , K
g\ wom om o= 2% kM =
\ H
\ gk kg om M g
TR v B R O¥ A
ool &k wm om & o E m & k&
\
1 5.6 19.6 —4.1 87.3 99.9 38.0 87.6 1.4 dedbvE | 16.5 17.0 | 140.0
2 6.1 16. 6 -2.7 86. 9 99.9 10.5 85.9 1.4 dJedevs 17.1 19.0 99.5
3 12. 8 24. 4 0.1 87.8 99.9 38.0 88.0 1.5 dedbvE | 19.3 29.0 | 231.0
4 16.7 28.3 6.3 85.1 99.9 23.8 84.9 1.5 i) 19.6 17.5 | 174.5
5 20. 4 29.3 7.4 89.2 99.9 31.6 88.2 1.6 TFArEME 16.0 23.5 1 291.0
6 23.8 31.9 15.3 93.4 99.9 51.3 93.2 1.5 ] 17.3 56.5 | 413.5
7 27.5 34.6 23.0 94.0 99.9 63.8 93.9 2.3 [iic] 23.8 33.5 | 574.0
8 28.4 34.9 21.6 90.0 99.9 50. 2 90.0 2.3 W 22.3 23.0 76.5
9 24.9 33.2 17.0 93.5 99.9 60. 0 93.3 1.3 [iic) 39.2 43.0 | 482.5
10 18.2 30.7 8.7 88. 4 99.9 41.6 88. 8 1.2 Jedevs 21.6 8.5 54.5
11 13.5 24. 6 1.3 91.1 99.9 43.6 90. 3 0.7 dkdkvE . 11.3 14.5 | 100.5
12 10. 3 24. 2 -2.2 89.4 99.9 44.9 90.0 1.4 it 15. 2 18.0 134.5
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